

7.

| n | $f^{(n)}(x)$ | $f^{(n)}(2)$ |
|----------|---------------|--------------|
| 0 | $1 + x + x^2$ | 7 |
| 1 | $1 + 2x$ | 5 |
| 2 | 2 | 2 |
| 3 | 0 | 0 |
| 4 | 0 | 0 |
| \vdots | \vdots | \vdots |

$$f(x) = 7 + 5(x-2) + \frac{2}{2!}(x-2)^2 + \sum_{n=3}^{\infty} \frac{0}{n!}(x-2)^n$$

$$= 7 + 5(x-2) + (x-2)^2$$

Since $a_n = 0$ for large n , $R = \infty$.

13.

| n | $f^{(n)}(x)$ | $f^{(n)}(\frac{\pi}{4})$ |
|----------|--------------|--------------------------|
| 0 | $\sin x$ | $\frac{\sqrt{2}}{2}$ |
| 1 | $\cos x$ | $\frac{\sqrt{2}}{2}$ |
| 2 | $-\sin x$ | $-\frac{\sqrt{2}}{2}$ |
| 3 | $-\cos x$ | $-\frac{\sqrt{2}}{2}$ |
| 4 | $\sin x$ | $\frac{\sqrt{2}}{2}$ |
| \vdots | \vdots | \vdots |

$$\begin{aligned} \sin x &= f\left(\frac{\pi}{4}\right) + f'\left(\frac{\pi}{4}\right)\left(x - \frac{\pi}{4}\right) + \frac{f''\left(\frac{\pi}{4}\right)}{2!}\left(x - \frac{\pi}{4}\right)^2 + \frac{f^{(3)}\left(\frac{\pi}{4}\right)}{3!}\left(x - \frac{\pi}{4}\right)^3 + \frac{f^{(4)}\left(\frac{\pi}{4}\right)}{4!}\left(x - \frac{\pi}{4}\right)^4 + \dots \\ &= \frac{\sqrt{2}}{2} \left[1 + \left(x - \frac{\pi}{4}\right) - \frac{1}{2!}\left(x - \frac{\pi}{4}\right)^2 - \frac{1}{3!}\left(x - \frac{\pi}{4}\right)^3 + \frac{1}{4!}\left(x - \frac{\pi}{4}\right)^4 + \dots \right] \\ &= \frac{\sqrt{2}}{2} \left[1 - \frac{1}{2!}\left(x - \frac{\pi}{4}\right)^2 + \frac{1}{4!}\left(x - \frac{\pi}{4}\right)^4 - \dots \right] + \frac{\sqrt{2}}{2} \left[\left(x - \frac{\pi}{4}\right) - \frac{1}{3!}\left(x - \frac{\pi}{4}\right)^3 + \dots \right] \\ &= \frac{\sqrt{2}}{2} \sum_{n=0}^{\infty} (-1)^n \left[\frac{1}{(2n)!}\left(x - \frac{\pi}{4}\right)^{2n} + \frac{1}{(2n+1)!}\left(x - \frac{\pi}{4}\right)^{2n+1} \right] \end{aligned}$$

The series can also be written in the more elegant form $\sin x = \frac{\sqrt{2}}{2} \sum_{n=0}^{\infty} \frac{(-1)^{n(n-1)/2} (x - \frac{\pi}{4})^n}{n!}$. If

$$a_n = \frac{(-1)^{n(n-1)/2} (x - \frac{\pi}{4})^n}{n!}, \text{ then } \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \frac{|x - \frac{\pi}{4}|}{n+1} = 0 < 1 \text{ for all } x, \text{ so } R = \infty.$$

$$18. e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} \Rightarrow f(x) = e^{-x/2} = \sum_{n=0}^{\infty} \frac{(-x/2)^n}{n!} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2^n n!} x^n, R = \infty$$

$$20. \sin x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!} \Rightarrow f(x) = \sin(x^4) = \sum_{n=0}^{\infty} (-1)^n \frac{(x^4)^{2n+1}}{(2n+1)!} = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{8n+4}, R = \infty$$

$$22. \cos x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n}}{(2n)!} \Rightarrow \cos 2x = \sum_{n=0}^{\infty} (-1)^n \frac{(2x)^{2n}}{(2n)!} = \sum_{n=0}^{\infty} \frac{(-1)^n 2^{2n}}{(2n)!} x^{2n} \Rightarrow$$

$$f(x) = x \cos 2x = \sum_{n=0}^{\infty} \frac{(-1)^n 2^{2n}}{(2n)!} x^{2n+1}, R = \infty$$

$$23. \sin^2 x = \frac{1}{2} [1 - \cos 2x] = \frac{1}{2} \left[1 - \sum_{n=0}^{\infty} \frac{(-1)^n (2x)^{2n}}{(2n)!} \right] = 2^{-1} \left[1 - 1 - \sum_{n=1}^{\infty} \frac{(-1)^n (2x)^{2n}}{(2n)!} \right]$$

$$= \sum_{n=1}^{\infty} \frac{(-1)^{n+1} 2^{2n-1} x^{2n}}{(2n)!}, R = \infty$$

1) a) $a_0 = \text{positive}$
 $a_1 = \text{positive}$
 $a_2 = \text{negative}$

b) $b_0 = \text{positive}$
 $b = 0$
 $b_2 = \text{negative}$

c) $c_0 = \text{positive}$
 $c_1 = \text{negative}$
 $c_2 = 0$

d) $d_0 = \text{positive}$
 $d_1 = \text{negative}$
 $d_2 = \text{positive}$

e) $e_0 = \text{negative}$
 $e_1 = \text{positive}$
 $e_2 = \text{negative}$

| 12. | n | $f^{(n)}(x)$ | $f^{(n)}(0)$ |
|-----|----------|--------------------------|--------------|
| | 0 | $\frac{1}{(1-x)}$ | 1 |
| | 1 | $\frac{1}{(1-x)^2}$ | 1 |
| | 2 | $\frac{2}{(1-x)^3}$ | 2 |
| | 3 | $\frac{6}{(1-x)^4}$ | 6 |
| | 4 | $\frac{24}{(1-x)^5}$ | 24 |
| | \vdots | \vdots | \vdots |
| | n | $\frac{n!}{(1-x)^{n+1}}$ | $n!$ |

Note: derivatives are positive, because setting $u = (1-x)$, then $du = -dx$. So the negative sign from taking the derivative of $\frac{1}{u^n}$ cancels out:

$$\frac{d}{du} \left(\frac{1}{u^n} \right) = \frac{-n}{u^{n+1}}$$

$$\frac{d}{dx} \left(\frac{1}{(1-x)^n} \right) = -\frac{d}{du} \left(\frac{1}{u^n} \right) = \frac{n}{(1-x)^{n+1}}$$

We know the coefficients of the power series at 0 are equal to $\frac{f^{(n)}(0)}{n!}$, so

$$\frac{1}{(1-x)} = \sum c_n x^n = \sum \frac{n!}{n!} x^n = \sum x^n.$$